
Exempel

Bestäm Taylorutvecklingen av ordning 2 för ln x kring x = e

(restterm på ordo-form).
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Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x ,

f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
,

f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel



Lösning

f (x) = f (e) + f ′(e)(x − e) +
f ′′(e)

2
(x − e)2 +O((x − e)3).

f (e) = ln(e) = 1

f ′(x) = 1

x , f ′(e) = 1

e

f ′′(x) = − 1

x2
, f ′′(e) = − 1

e
2 .

Så

f (x) = 1+
1

e

(x − e)− 1

2e2
(x − e)2 +O((x − e)3).

Tomas Sjödin Taylors formel


